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If "C, denotes the number of combinations of n distinct things taken r at a time, then the

domain of the function g(x)="*"Ic , , is

"C, &0 1S SNYO D0 I SNHOD 2.5r0 B o ST ) Hodrre
Do &rd R, g(x)="07C 5, Wibdkho G, o

Options :

] |
28393621761. ¥ i2,3.4,3;

28393621762, % 10:1:2,3,4/

28393621763, % &

iyl
28393621764, % 1Y)

Question Number : 2 Question Id : 2839365442 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



‘ ﬂ/ﬂ.b. c.de R} If fX> R isdefined by f(4)=det(4) 74X, then fis

a b
¢ d

f(4)=det(4) VA X 8D, @) f

}/a.b.c,deﬁ} %00, f: X 5>R oF |HDHor)

Options :

one-one but not onto
28393621765, % @™ 5580, 5% DO 5°¢%

onto but not one-one
98393621766, ¢ COHIREW, 570 T 850 57D

one-one and onto
28393621767, % O 5M HOAW Ho|Hikn

neither one-one nor onto
28393621768, % @550 5°¢, D00 5°¢H
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Correct Marks : 1 Wrong Marks : 0

If f(x) is a function such that f(x + y) = f(x) + f(y) and f(1) = 7 then i f(r)=

f(x) @38 f(x +y) = f(x) + f(y) 00N f(1) = 7 oTD5ertw ™ D) 28
EHotDd Y f(r)=
Options :

Tn
28393621769. ¥ 2



T(n+1)
28393621770, % 2

28393621771, % /1(n+1)

Tn(n+1)
28393621772, ¢ 2
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If A 1s a square matrix of order 3, then |Adj(Ad;‘ A:)

A 2.8 |BDBXTED BN S|SB oS, @)k ‘Adj( Adj A )

Options :

28393621773 % | A[

. |4
28393621774. % |+

A .IK
28393621775. ¢ | 41

y |A||h
28393621776. =
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: N.A Think Time : N.A Minimum Instruction Time : 0
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If A and B are two square matrices of the same order and (AB + lf'uf-'m)-r + (ABmBA)T = 2BA
then

A, B e 2.8 618 oA Both tHehd|S Sr(eden SHoakn
(AB+BA)' +(AB-BA)' =2BA wand
Options:
A and B are both symmetric matrices but not skew-symmetric matrices

28393621777, % A DO B o> s Sr@5en, S S8 DPaed Sr(e38en S

A and B are both skew-symmetric matrices but not symmetric matrices

28393621778, % A B0 B €0 Bodr S§ PR SrB8ew, 50 RS Sr(@8en 57

A and B are neither symmetric nor skew-symmetric matrices

28393621779, ¢ A DOAN B 0 APed Sr(edFen 57¢h, HIE Drarsd Sr(edSen 57

A and B are any two non zero matrices

28393621780, % A 085w B e HZ Boch HrR58S Sr(edsen
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Ifadi|-1 1 -2|=[1 1 0 |,then mtn =

L 8 2 5 m =2
adji|-1 1 =2|=|1 1 0 | eoocns, oy m+n =
0 2 1 -2 -2 n

Options:

28393621781, % 2
28393621782, ¥ =3
28393621783, ¢

28393621784, % =
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0 3 ; 2 3 2023 .
If A= i and f(x)=x+x"+x + ...+x" then f(A4)+] =

03
A :L’ {J DOAW [ (x)=x+x7+x"+ .+ 2T 0ONS, @YD f(4)+] =

Options:

{{] 0}
28393621785, # 00



[I 3]

28393621786. # 0 0
o i

28393621787. ¥

i
28393621788. # 11
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Ifr':vf—_l then Z[%J =

n=0

i=v-1 eond, Z(%]

n=(l

Options :

Q-3
28393621789, % 10

28393621790, ® 9 —3i

28393621791, ¥ 9+3i

Q43
28393621792. ¢ 10
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(] + _)EI'IIES
If f':\/'——l then Arg kit S

A2022

| —i

I i E}JUJF

i=v-1 wond, Arg (—“ =

1—1
Options :
-
28393621793. ¢ 4

x
28393621794, ¥ 4

3T

28393621795. ¥ 4

-3

28393621796. ¥ 4

Question Number : 10 Question Id : 2839365450 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

- L
=2, where z=x+iy, is
Z+1i

The locus of z such that

z—1

z=x+iy @00 =2 @3H5eIENS) z TBnE Dot Dw

z41




Options :

28393621797 ¢ 3x* +3y° +10y+3=0

28393621798, % 3% —3y"=10y-3=0

28393621799, % 3% +3y" +10y-3=0

28393621800, % X +V —3y+3=0
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: T .. I =
If X =cos—+isin—,then | |x =
n 2;1 »-J,.u i

= n=l

=}
r .. ”
— +1 Sin—, ®OW, @)D HI!? =

JCH =Cos— -
2 2

n=I
Options :

28393621801, # 0

28393621802 % |

28393621803, ¢ -1

28393621804, # i
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If the roots of the equation z* —i =0 are @ and 4, then | Arg f - Arga|=

z* =i =0 DN¥GE0 GIE) Srenen a HO B e @ond, | Arg f- Argal=

Options :

28393621805, % 27

T
28393621806, # 2

28393621807. ¢ T

3
28393621808, ¥ 4
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If x*+ 2px-2p+8 >0 for all real values of x, then the set of all possible values of p 1s

X ODE) 198 TR Jend & 1 +2px-2p+8>0 0w, )¢ p § FG0ahs ©)

DN Jaed

Options:

28393621809. * ( 2, 4]

28393621810, % (~—4)



28393621811, % (2®)

28393621812, ¢ (—4. 2]
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Correct Marks : 1 Wrong Marks : 0
x+3

(x=1)(x+2)

ax+ fiy+1=0 on the coordinate axes is

If R~(a, f) is the range of

, then the sum of the intercepts of the line

143 ; : IS RO
m a8 i R-(a,f) ©ond, o) ax+ fy+1=0 O A ogo
X—=I)Nx+

30 ©0éd poaro Fndo

Options :

28393621813, # -8

28393621814, v 10

28393621815, ¥ O

28393621816, % 9

Question Number : 15 Question Id : 2839365455 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The quadratic equation whose roots are sin” 18° and cos’ 36° is
sin® 18° 508050 €08’ 36° @ sarerent HOAS S5 HEBe0

Options :

28393621817 # 16x° =12x=1=0
28393621818, * 16x" —12x+4=0
28393621819 ¢ 16x" —12x+1=0

28393621820, % 16x* +12x+1=0
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The roots of the equation x* + x* —4x* + x+1=0 are diminished by h so that the transformed
equation does not contain x term. If the values of such hare @ and £, then 12(a - j }3=

XA+ x41=0 DDEGETR) x¥ G0 BA HDDEER0T Erarosto ToTLED e
Na088Ea0 T}y Sireresd h T $howrd. atroe h % e devden a HOKD f eand,

12(a-p) =
Options :
28393621821, ¥ 37

28393621822, % 25

28393621823, * 105



28393621824, # 115
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a, B,y are the roots of the equation x* +2x” —x-2=0 then ¢+ "+ "=
a, B,y © DNEG0 x* +2x" —x-2=03wE) rered o + 0+ y°=
Options :

28393621825, % 3

28393621826, * 129

28393621827, ¢ 08

28393621828, % 192
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Correct Marks : 1 Wrong Marks : 0



The number of diagonals of a polygon 1s 35. If A, B are two distinct vertices of this polygon,
then the number of all those triangles formed by joining three vertices of the polygon having
AB as one of its sides 1s

2.8 0330 2025 DEYSwe Ho; 35. A, B en & 235002 B3nE), Boch DS WS, &
2:50202 T0E) e FISNO EeIT BT (Behesne & AB 2z ke
|S32hEne) Ho;

Options :

28393621829, % |

28393621830, ¥ 8

28393621831, * 10

28393621832, % 12
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: N.A Think Time : N.A Minimum Instruction Time : 0
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There are 10 points in a plane, of which no three points are collinear except 4. Then, the
number of distinct triangles that can be formed by joining any three points of these ten
points, such that at least one of the vertices of every triangle formed is from the given 4

collinear points is

2.8 00 SR 10 oIS 4 DS &) S Dodeyen SBDairenss). & 10
)00 P DOKHO5 EODSYIE DBIBS (S (B0 Ty FWSwerd
00 2,563, 3 Trenk) DBDAH oo 00G GOTENT IEITE O,
|©92D200 A0S

Options :



28393621833, ¥ 80

28393621834, * 100

28393621835, ¢ 20

28393621836, % 116
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
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A student is asked to answer 10 out of 13 questions in an examination such that he must
answer atleast four questions from the first five questions. Then the total number of possible
choices available to him is

28 30 2.8 H63S D)% 13 (H3) 08 3nced ©and [H9)0 Sod Eddo et

91 ©8) DSPETH0 B F0S0 10 (33105 NSPErd0 Bar ). @s8 FriNa o
D0EE) VOV

Options :

28393621837, % 180

28393621838, * 176

28393621839, % 286

28393621840, ¥ 196
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If (¢, c) is the set of all values of x for which the expansion of ( 7-5x ]_75 is valid, then 5c+7=
(-c, ¢) @30 (7-5x )_% D8] ARGED TOVEPEN BTN &ed) X 05, B NSO
NS BN, @510 5c+7 =

Options:

28393621841, % 0
28393621842, # 12
28393621843, * 41

28393621844, ¢ 14

Question Number : 22 Question Id : 2839365462 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

n

If n is a positive integer and /{n) is the coefficient of x" in the expansion of (1+x)(1-x),
then f(2023)=

n 28 sy grossn B (1+x)(1-x)" dYGeS’ x" Gy hesko fin) @owd,

@03 )08 1(2023) =

Options :

28393621845, % -2021

28393621846, v 2022



28393621847, % 2023

28393621848, % -2023

Question Number : 23 Question Id : 2839365463 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

v o 9 AT
If y=—+—+
" 4 48 438.12

+... 10 00, then

3 ‘35 357
=—+—1+
4 48 48.12

y +... 10 0 @OV, @)
Options :

28393621849, % ¥V —2y+5=0

28393621850, v ¥ +2y-7=0

28393621851, % V —3y+4=0

28393621852, # V +4y—6=0

Question Number : 24 Question Id : 2839365464 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



3x+2 A Bx+C

If - = +—
(x+l)(2:r'+3) +1l 2% +3

,then A—-B+C =

3342 _ A4 Bx+C
(x+1)(24*+3) x+1 2x*+3

oS, @I A-B+C =

Options :

28393621853, ¥ 2
28393621854, # 1
28393621855, % 3

28393621856. % O

Question Number : 25 Question Id : 2839365465 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The period of the function f(x)= goslsn) +( tan :r)?’ —cosec(3x—5)is
£(x) =¢85 4 (tan x)’ —cosec (3x—5) Hbaho oE; B850
Options :
28393621857, % 7

T
28393621858, # 2

28393621859, ¥ 27



2
28393621860. ¥ 3

Question Number : 26 Question Id : 2839365466 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0
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If c{)sf?=;3 and ﬁrﬁ(?{E—X,lhcn lﬂn£+5il1£+2m}sﬁ=
5 2 2 2 5

iy e

cuséi:_?s J)}@dﬁ))‘?r{f}{%r SO0, €9:))C tang+5ing+2msg=

Options :

28393621861, % -1
28393621862, % 1

28393621863, ¢ 2

28393621864, % 2

Question Number : 27 Question Id : 2839365467 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If sin26 and cos2@ are solutions of x* +ax—-c =0, then

X tar—e=0 JDESTAE sin 26 HOCH cos20 €0 AN BONS, ) IR

Options :



28393621865, * @ —2¢—1=0

28393621866. ¢ @ +2c—1=0

28393621867, ¥ @ +2c+1=0

28393621868, # @ —2c+1=0

Question Number : 28 Question Id : 2839365468 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Ifx =log(y +y*+1)theny=
x =log(y +y? + 1) ®@ond y =

Options :

28393621869, # tanhx

28393621870, % cothx

28393621871, ¢ Sinhx

28393621872, # coshx

Question Number : 29 Question Id : 2839365469 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

In ABC,if a:b:c =4:5:6, then the ratio of the circumradius to its inradius is

MBC & a:b:c =4:5:6 0@, o H0:5y8 TG0 HOAN ©0SEHyS FsrTe A8

Options :

28393621873, ¥ 1617
28393621874, % 25:11
28393621875, % >4

28393621876, % 93

Question Number : 30 Question Id : 2839365470 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The perimeter of a A4BC is 6 times the arithmetic mean of the values of the sine of its

angles. If its side BC 1s of unit length, then /4 =
2.8 82020 ABC T0¥) tHERFO, TR Fere e ende Tng), @080 5ras eddew
0. I ZHzsin BC Tgy e 1 e &o®, o)th Z4=

Options :

b
28393621877. ¢ 6

W |y

28393621878, #

b
28393621879, ¥ 2



28393621880, # T

Question Number : 31 Question Id : 2839365471 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

If |E' =4, |5| =35, |&—e?1 (=3 and @ 1s the angle between the vectors @ and b, then cot’ O=

la|=4,|b|=5, |a-b|=3 SO a,b HOIO HESs o Feao § wond, ey cot’ §=

Options :

28393621881, # 16

L |

28393621882. *

& |w

28393621883. #

16
28393621884, ¢ 9
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:N.A Think Time : N.A Minimum Instruction Time: 0
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IfA(1,2,3),B(3,7,-2),C(6,7,7) and D(-1, 0, -1) are points in a plane, then the vector
equation of the line passing through the centroids of A4BD and AACD is

A(l,2,3),B(3,7,-2),C6,7,7) snbadsn D{-1,0,-1) ex 2.8 005 Dosyen o,
A4BD 58050 A4CD © Zoderare How SFad H&¢ B Ty ST Havddeo
Options :

28393621885, ¥ ;=(2’:_~})H{}+4E]

58393621886, v ' =(1+1)i+3j+31k

J63936 1857 ¥ :(25'+3}+3})+.f[}.'+ 3})

28393621888. # ;:(}+}+E]+r(2;_})

Question Number : 33 Question Id : 2839365473 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If a+b+c=0, |a|=3,]b|=5,

¢| =7, then the angle between @ and b is

a+b+c=0, |a|=3,|b|=5,[c|=Teoond, a, b & ;S0

Options:

o | A

28393621889. #

+ | A

28393621890. #

s
28393621891. ¥ 3



T
28393621892. # 2

Question Number : 34 Question Id : 2839365474 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time: 0
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If 2?—}7+3E, - 125—_}—3]1 i+ 2}—4E and Ai + EE—E are the position vectors of four
coplanar points, then 4=

2i— j+3k,~12i— j-3k,—i+2j -4k, Ai+2j-k e e SSOH Hochye

FINOISS, @) A =

Options :
28393621893, ¢ 9
28393621894, ¥ -2

28393621895, % O

28393621896. % 0

Question Number : 35 Question Id : 2839365475 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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Let a=i+2j-2k and b=2i- j-2kbe two vectors, If the orthogonal projection vector of aon

bis x and orthogonal projection vector of b on g is y then |x-y|=
a=i+2j-2k SO0 b=2i-j-2k 0 B0t HOTOK0E0. b 3 ¢ T} ©od
DEINEE x DO a R b T ©02 IZHIOT y eowd, o) |x-y|=

Options :

2 Jio

28393621897. ¢ 9

4 26

28393621898, # 9

%ﬁﬁ

28393621899. #

8 /%

28393621900. ¥ 9
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Correct Marks : 1 Wrong Marks : 0

The variance of 50 observations is 7. Suppose that each observation in this data is multiplied by 6

and then 5 1s subtracted from it. Then the variance of that new data s

50 309050 DY 7. HT0F0S R 19 HBIDS 6 T HBOIT S TR 008 5
SNFTEDLH0TF0. 998 & §d SFom Bk DY

Options :

28393621901, ¥ 37

28393621902, ¥ 42



28393621903, % 247

28393621904, ¢ 252
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A bag contains four balls. Two balls are drawn randomly and found them to be white. The
probability that all the balls in the bag are white is

2.5 500 T 20RO G0, T H0G Boc 200 ArEIDIZ0T SOHIT &
BodT BOAD 9 LT 8. € DS &) ©9)20e) BRAD FHEAE N02rdze

Options:

)
28393621905, ¥ 2

3
28393621906. ¢ 5

1
28393621907. ¥ 4

2
28393621908, ¥ 3
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If the coefficients a and b of a quadratic expression x* +ax+ b are choosen from the sets
A={3,4,5} and B={1,2,3,4| respectively, then the probability that the equation

x* +ax +b =0 has real roots is

ax+h O S D3rdn SR HEsen a SHBAN b & & SHIT 4 ={3.4.5} Q805

B={1,2,3,4} da0e3® H0A JothBo®), ) 1’ +ax+bh = 0 HaDEIETVS 1A

SPereN GOBOHE e 0T seh

Options :

o

28393621909. # O

= WY

28393621910. ¥

W

28393621911. #

—
2

28393621912 #
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A random variable X has the following probability distribution

X=r 1 [2 [3][4 [5 6 [7 |8
P(X=x) | 015023 |k[0.10|0.20] 0.08]0.07 | 0.05

For the events £ ={x/x isa prime number} and F={x/x <4} then P(E UF)=

2,8 Airdy0 )8 doord X, & (808 J02rs e dzraara) §60° Gsod

X=x 1 [2 [3[4 [5 Je [7 T8
P(X =) | 0.15[0.23]k[0.100.20] 0.08 | 0.07 | 0.05

E={x/x o0 8105 dops} HOAM F={x/x<4} sv&d08 P(EUF)=

Options :

28393621913, % 0.57

28393621914, # 0.87

28393621915, v 0.77

28393621916, * 0.35
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5 persons entered a lift cabin in the cellar of a 7-floor building apart from cellar. If each of
them independently and with equal probability can leave the cabin at any floor out of the 7

floors beginning with the first, then the probability of all the 5 persons leaving the cabin at

different floors 1s

B TR0 7 5 e o P30 TE) VD O &) O DS SR8 eandoid
H58e (HST0TD. TOES (HB A8 D s5olSor Fncied F6 Hod 7 6 o' ) &6
' O DS H08 20HEH THEIE DTS D05 GO, 8 LoNkIHEr
388 ©08WOS TS D& Ko Hozrdse
Options :

360
28393621917. ¢ m

5
28393621918, ¥ 54

51
28393621919, # 71

5
28393621920, # 18
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If a point P moves so that the distance from (0, 2) to P is s times the distance of P from

N

(-1, 0), then the locus of the point P is
1

2,8 20c0Y P, (0, 2) hod P & fie &S¢0, (-1, 0) Shod P 8 ey &roerd 7
?

oe
&0 VBN GOB), @))¢0 P 3wy, Dodh Hdo
Options :

a circle with centre (1, 4) and radius 10 units
8393621921, % (1, 4) So(&or, arsr@o 10 COTAER™ Ko 2.8 S0

a circle with centre (-1, -4) and radius +/10 units

28393621922, % (-1, -4) So(cor, 580 V10 SHrER™ e 2.8 S0

a circle with centre (1, 4) and radius /10 units

28393621923, v (1, 4) Bolom, ars@rgo V10 Shrdent e .8 Syso

a parabola with focus at (1, 4) and length of latus rectum 10 units

(1, 4) &2 DB T°8) ©020 &P 10 Chrde™ fe) 2.8 DTrseadho
28393621924, #
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Let d be the distance between the parallel lines 3x-2y+5=0 and 3xr—2y+5+2413 =0.
Let LIESY—21’+k =) (k >0)and L, =3x-2y+k, =0(k, > 0) be two lines that are at

the distance of fmm the line 3x-2y+5=0. Then the combined equation of
i~ 5

the linesLi=0and Ly =01s
3x-2y+5=0 00 3x—2y+5+2413 =0 ©F HSrosd Bae His &rdo d
905050, LIESY—21-'+1( =0 (k, >0) 00 L, =3x -2y +k, = 0(k, > 0) &)

3x-2y+5=0 B od —Knéoﬁn &5“0‘&)(’36 £ed) D0ch BDODF0T0. 951

TR T

L1 =05805 Ly =0 820 Hdoaing Hané&eo

Options :
28393621005, v (3¥—2¥) +24(3x=2y) +143=0

28393621926, % (3¥—2y) +8(3x-2y)+33=0

28393621927 * (3x—2y) +12(3x-2y)+13=0

28393621928, # (3x-2p) +12(3x-2y)+1=0
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If (h, k) is the image of the point (3,—4) with respect to the line 2x-3y-5=0and (I,m)

is the foot of the perpendicular from (h.k) on to the line 3x+2y+12=0,then /h+mk +1=
2x-3y-5=009 B9ars Dotey (3,—4) Ty} 1De3ddoao (h, k) 80k (h, k) svod

3x+2y+12=0 0% B wo2rd0 (I,m) wond, 1h+mk+1=

Options:



28393621929, ¢

28393621930, ¥ 34

28393621931, ¥ 34

28393621932, % -3
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A straight line parallel to the line y = /3 x passes through Q(2, 3) and cuts the line

2x + 4y — 27 = 0 at P. Then the length of the line segment PQ is

0(2,3) Dok o Fér y = 3 x Bpd darosdor &od B, 2x +4y —27 =0
Bed P 5O 20400, @) PQ Bar 0G0 P

Options :

28393621933, % 2V3 + 1

28393621934, % V3 +1

28393621935, v 2V3 — 1

28393621936, % V3 — 1
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Ifaline ax+2y =k forms a triangle of area 3 sq. units with the coordinate axis and is
perpendicular to the line 2x-3y+7 =0, then the product of all the possible values of kis .
28 008 B ax+ 2y =k, ArHsTod 3 . Ahr. FFez0 Ko B2H2R) 85006
B0 2x-3y+7=0 ODH ©OOT GOV, k § 0095 @) denser &0

Options :

28393621937, ¢ =36

28393621938, % 36

28393621939, % 04

28393621940, % 64
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The orthocenter of the triangle whose sides are given by x + y + 10 = (),

x—y—2=0and2x+y-7=01s
X+y+10=0,x-y—2=000050 2x +y -7 = 0 &) D200 25520 (202850
a3, ©02) 30|80

Options :

28393621941, % (—4, —3)



28393621942, ¢ (—4,—6)

28393621943, # (4, 6)

28393621944, * (3, 6)
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For / € R, the equation (2/-3)x” +2lxy— y* =0 represents a pair of distinct lines

leR 82508880 (21-3)x* +2hy—y* =0 2.8 DS Bpe M) Srdosd
Options :

only when /=0
28393621945, % [ =0 ©0NSHE S

for all values of [/ € (-3,1)
28393621946, % ! € (—3,1) 00§ @) JenHOE

for all values of /e R —(0,1)
28393621947, % [ € R =(0,1) &35 &@)dendosd

for all values of / e R—[-3,1]

58393621948, v | € R—[-3,1] @835 &0 Denseso

Question Number : 48 Question Id : 2839365488 Question Type : MCQ Option Shuffling : Yes
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If the parametric equations of the circle passing through the points (3, 4), (3, 2) and

(1,4)is x=a+rcosf, y=b+rsinf then br* =

(3,4), (3, 2) 5805 (1, 4) Doy KHoETFodh 2.8 Sydan Ty HTHSoH HebEse0
x=a+rcosh, y=b+rsinf NS, @b =

Options :

28393621949, % 9
28393621950, ¢ 18
28393621951, % 27

28393621952, % 4
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A tangent PT is drawn to the circle x*+ y? = 4 at the point P(\E.E)‘ If a straight line L
2 ;

which is perpendicular to PT 1s a tangent to the circle (.r—3] +'1»'2 =1, then a possible

equation of L is

¥ 4y =4 398 P(V3,1) Dockish $¢ PT & )8) Bk hieréh. PT § womorr

GN) ‘L’ oF Q60 (J.'—.’J)2 F37 =1 59808 2.8 58 B wowd, &) ‘L’ %
S8 DB 2.8 Dev&de0

Options:



28393621953, v ¥ —V3y =1
28393621954, % X—3y =4
28393621955, % X—V3y =~-I

28393621956, % X~ V3y =17
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If the angle between the pair of tangents drawn to the circle x* + y* =2x+4y+3=0 from

the point (6,-5) is @, then cotf =

(6,-5) Doy 0B x*+y* =2x+4y+3=0 S928 HAS 96 Barohufizen sucdsie

80 0 NS, @ cotd=

Options :

8
28393621957. ¥ 15

]
28393621958, # 4

28393621959, % 4

15
28393621960, ¢ &
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I the angle between the circles x* +y* —4x—6y+k =0 and x* +y* +8x—4y+11=0 is

T " 3
E. then the value of & is

4y —4r-6y+k=0 000 x* +17 +8r-4y+11=0 98 Hedste Feao %
0NS, @) k denad

Options :

28393621961, ¥ -3
28393621962, ¥ 3
28393621963, ¢ -1

28393621964, % 13
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4

; . : , )2 A8
The radius of a circle touching all the four circles (x+4)" +(y£4) =4" is

(Jririt}2 +(yiw1)2 = 1’ oF Tl SyT o0 519303 0.8 SySS0 Bk FRrdo

Options :

28393621965, % 2v/24



S

- 1],».
28393621966. (

(2++2)4

28393621967. #

(2-43)

28393621968. #
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If the radical centre of the given three circles x*+ % =1, x* + 3" =2v-3=0 and

x*+ 91 =2y-3=0 is C(a, B) and r is the sum of the radii of the given circles, then the
circle with C(a, p) as centre and r as radius 13

D)0 SR S9Te ¥+ 71 =1, ¥ 437 -20-3=0 00w 1+ -2y-3=0 I,

Sregodo C(a, B) HOaw G Syre airge Indo reowa Cla, ) Toldom, 1
TGO §o) 89968 a0

Options :
2 9
28393621969, ¥ (X—1)"+(y—-1)"=2
2 .,
28393621970, % (Xx=1)" +(y+1)" =

58393621971 * (x=2)* +(y=2)* =25

2 2
28393621972, ¢ (X +1)" +(y+1)" =25
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If x-2y+k =0 is a tangent to the parabola y* —4x—4y+8=0, then the value of k is
¥ —4x-4y+8=0 S0H00rN8 x-2y+k =0 28 H)8) 52 wond, e k s}
RSN

Options :

28393621973, % 2

2
28393621974, % 3

28393621975. ¢ 1

28393621976, % —7
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If the points of intersection of the parabolas y* =5x and x* =5y lic on the line L, then the
area of the triangle formed by the directrix of one parabola, latus rectum of another

parabola and the line L is
¥ =5x S0 ¥ =5y TP Dok Hotgen GoR HEY O L eons 2.8

NTHOON0 Ty, AL, HOGNE HTHL0H0 GBE) TR0 LB B9 L 3
206)3 (8292 FTos0

Options :



28393621977, % 32

28393621978, # 23

28393621979. ¥

28393621980, ¥ 32
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, . B ‘
[f the line x cosa + ysina = 23 isa tangent to the eIhpseE + ke 1 and @ is an acute
angle then @ =

2 2
j-ﬁ*?% = 1 A8 S9@D8 xcosa+ysina = 243 ©F H6¢ B2, 2& 538 B O @ 2.8

Oa SR8 o) a =

Options :

| =

28393621981, # 6

£y

28393621982, ¥

"
28393621983, ¥ 3



"
28393621984, % 2
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If x++/3y=3is the tangent to the ellipse 2>+ 3y” = k at a point P then the equation of the
normal to this ellipse at P is

2004397 =k OF 59208 2.8 Doy PG x++3y=13 08 B eows, P 3¢ &

B85 TRE edeoa B2 Nanideo

Options :

Sx—243y=1

28393621985. #

pn .
28393621986, ¥ * V3y =2

28393621987, # x =3y +1=0

28393621988, ¥ X V3y=1
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If the angle between the asymptotes of a hyperbola 1s 30° then its eccentricity 1s

2,8 @8 JoSe0h0 g @0 D809 580 30° eond TR G805



Options :

28393621989. # V5 -2

28393621990. # V6 -3

28393621991, # V5 -3

28393621992. ¥ V6 — 2
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[n a triangle ABC, if the mid points of sides AB, BC,CA are (3,0,0),(0,4,0),(0,0,5)

respectively, then AB? + BC? + CA? =

(8255230 ABC S, Zhasnen AB, BC, CA © 585 Dodusyen SEam
(3,0,0),(0,4,0),(0,0,5) E‘JO}J@, 295308 AB* + BC? 4+ CA* =
Options :

28393621993, % 50

28393621994, % 200

28393621995, % 300

28393621996, ¥ 400
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If {, m, n and a, b, ¢ are direction cosines of two lines then
[, m, n 00AW a, b, ¢ e Both HEF Tpe HF FRm e ®ons
Options :

they are parallel when la + mb +nc =0
28393621997, # @+ mb + nc = 0 @0NRA) @) DIT0ST N

, [ m n
they are perpendicular when —=-—=—
a b c

I m n
— = — = — 2900M6)CD &) DOWOTT OLTON

28393621998. % @ b ¢

the direction ratios of the bisectors of the angles between the two lines are

[tamtb nte

[tamtb,ntc eneBPe NS GO 5 DB sD0cS Do &F
28393621999, v OBV

the direction ratios of the bisectors of the angles between the two lines are
la, mb,nc

28393622000, % 1@ Mb,NC €0 & D 0G5 Koy §ea DB 5205 Dpe OF Homsen
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If(2, -1, 3) is the foot of the perpendicular drawn from the origin to a plane, then the

equation of that plane 1s

SO0 DO 2.8 00 28 A ©02) FA0 (2, -1, 3) ®ONS, & S0 TnE),

NaEBE0
Options :

28393622001, ® 2X+y—3z+6=0
28393622002, ¢ 2X—y+3z—-14=0
28393622003, # 2X—y+3z-13=0

28393622004, % 2X+y+3z—-10=0
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lim L}i [kj_t) =

n—=%X 1" k=l

Options :

28393622005, # X
X
28393622006, ¥ 2

X
28393622007. ¢ 3

28393622008. #



|~
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The quadratic equation whose roots are [ = lim { D i HJ and
; 2tand :
m=lim| ——— | is
e ﬂ(l—tan‘r_?)
a ]iln[35"”(}_4b"‘ 0] 00K m = lim “Z(H—Hﬁ:“‘ O darerenr KOS S5
80 f 00 H(I—Ian' 6’)
NeN88Ea0
Options :

28393622009, ¢ X —5x+6=0

28393622010, % X +3x+6=0

28393622011. % X =8x—-6=0

28393622012, % X" +5x—6=0
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On differentiation if we get f(x,y)dy-g(x,y)dx=0 from 2 -3y +y  +x+2y-8=0
82.2)
fL1)
©55090 TORYID 20" -3+  +x+2y-8=0 D0& f(x,y)dy-g(x,y)dx =
fh Lo,
S(L1)

Options:

then

11
28393622013, % 7

28393622014, ¢ —3

—1
28393622015. ¥ 3

28393622016, % 7
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I £(x)=e", h(x) = (fof) (x), then ) =
1(x)
= iy l'{ )
fh] e f:—*{r] (fﬂf}(‘i} @DJJ§
h(x)

Options:

28393622017, % A(x)

28393622018, % (*)



28393622019, ¢ log/i(x)

28393622020, ¥ —log/A(x)
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. , dy
If sin vy =sin 3t and x =sint, then T -
dx

Options :

3

28393622021, % V4—x’

3
28393622022, ¢ V1—x"

1

28393622023, % V4—x

-1

28393622024, ¥ V4—x*
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If a line having slope 2 is a tangent to the curve y=x" - 6x' +13x* —12x+5 at points

P(x,,y)and O(x,,y,), X,,X, € N then xx,—y,y, =

Fen 2o B, y=x'—6x"+13x" ~12x+5 508 P(x,,y,) S0Aw O(x,, )
aoﬂ)@@ Sﬁ@ ‘;\’J:légam @@éjﬂl f“.]wr] = "'V @mar @@j@ 'J‘.I'r.‘_ _ -pl-l:E =
Options :

28393622025, % 17

28393622026, % 3

28393622027, % —17

28393622028, ¢ —13
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Let m be the slope of the normal L drawn at (1, 2) to the curve x=t*-7t+7,
y=t"~4t-10 and av+by+c=0 be the equation of the normal L. If G.C.D. of (a.b.c)

is 1, then m(a+b+c)=

=t =Tt4+7, y=t1 =4t =10 $58 (1, 2) Doy $& A evdeon B L Bng), ren
m 8050 & @e00D L 508880 ax+by+c=0 edndomro. (a.b.c) Bo¥)
frer 1 @owd m(a+b+c)=

Options :

28393622029, ¥ 8



28393622030. ¥ 3
28393622031, % — 8

28393622032, ¢ 2
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[f the function f(x)=xe",xeR attains its maximum value £ at x = ¢ then (@, f)=

f(x)=xe™,xe R [DDHADHO T (0 Jens & x=a IQ Fods (a,f)=

Options :

|
[2-.- _}
28393622033. # €

28393622034. ¥ €

28393622035, # €

28393622036, % €
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drx =k [Tan']{xm }}3 +¢ ,thenk =

I I]If]

]f.j‘i. PTan' (x™)

l||b

J- 2 Tan &™)
(I _}_I]nu)

Options :

dr = k(Tan" (x*)) + ¢ ©ond, @ik =

28393622037, % 100

28393622038, ¥ 30

-1
28393622039, ¥ 50

|
28393622040. ¥ 100
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. 4
If J (logx) + dx= %[B(log %)’ +C(log x)* + D(log x) —1]+ kand A, B, C,D are

integers, then 4—(B+C+D)=

. I
I[log x) ¥ dv= %[B(l@g %)’ + C(log x)* + D(log x)—l]-l—k SBain A, B,C,D
FFOoTeD oS 4 —(B+C+D)=

Options :



28393622041, % 172
28393622042, % 184
28393622043, v 192

28393622044, % 216
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dx

I[f + I)(f + 4)

Options :

lTatl_lnc-l-%"l"atl_l[

Lo | =

28393622045. #

]+c
1

2 1 gt x
—Tan‘x—=-Tan 1[;]+c
28393622046. # 3 =

l T an_lx—l-% Tan™’ [ - J-I—c

t2 | =

28393622047. ¥

S B

l Tan ‘x— l Tan™ (
28393622048. ¥ 3 6

]+c
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J' dx —
3 3

(x=1)3(x+2)s

Options :

4(1—1T
= + &
28393622049, ¢ 3\ x+2

|
3[1-IT
—| —| +¢
28393622050, ¥ 4\ x—2

4[I+2]4
= i
28393622051, % 3\ x—1

|
3 [ -2 JE
v +
28393622052, % 4\ x—1
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|

j x |1f dx=

E
Options :

28393622053, % |



1
28393622054, ¥ 2

28393622055. ¢ 0

-3

28393622056, ¥ 3
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sin® xcos” x (sinx+cosx)dx =

—_—t]

-
=

Options :

| 2

28393622057. *

28393622058. * 10

28393622059, ¥ 19

5

28393622060. * 18
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The area (in square units) of the region bounded by the curve y = [sin 2.1" and the X-axis in

[0,22] is

[0,27] &y =|sin2x| S8 HOAM X-09§ 0T H02ESHTE [0S0 Ty,

3750 (5, SRS

Options :

28393622061, % 0
28393622062, ¥ 3
28393622063, ¢ 4

28393622064, % 1
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If I(Sf —4_r+2] dx =k , then an integer root of 3x* —4x +2 :% s

]

3

i 5 3
I[Sx' —4x+ 2) dx =k eona, 3x" —4x+2 =—$~ Q38 2.8 oJ°T°08 e

]

Options:

28393622065, % |



28393622066. # 0

28393622067, % 15

28393622068, ¢ -1
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If the order and degree of the differential equation corresponding to the family of curves

7 . t 2
y" =4a(x+a) (a is parameter) are m and n respectively, then m +n’=

' =4a(x+a) (a H07E) HWEGEI0 AFAOT S50 Ke02rA8 Ko N0¢ BIELS

QEBEI0 TBNE), DBSTE0, SBSIEN SBNMT M O n WONS, @Y o m+n’ =
Options:

28393622069, ¥ 3

28393622070, # 4

28393622071, ¢

28393622072, % 2
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[f the solution of the differential equation ﬁ: Shiay 1S y=xtan (f(x))+cthen f(x)=
dx 3x-2y ' '

dv 2x+3y . . .

S = @580 Dad8UE PG y = xtan (f(x))+c ®ONS, f(x)=

dx  3x-2y

Options :

I 2 ¥
—log (x” +y°)
28393622073. ¢ 3

28393622074, % (2x+3y) logx

ks Ingi +y’
28393622075. # X

sinlx +v*
28393622076, % (x +»7)
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The general solution of the differential equation (x* +2)dy + 2xydx = e (x* + 2)dx is

095808 D880 (x° + 2)dy + 2xydx = " (x* + 2)dx B0E) PO PP

Options:

. y 5
—=e (x"+x—-4)+c
28393622077. # V

28393622078, % 23V =¢€"(x* —2x+4)+c



28393622079, ¢ (X" +2)y =€ (x" —2x+4)+c

28393622080, % (¥ +2)'y =" (¥’ +2x—4)+c
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The ratio of the relative strengths of strong and weak nuclear forces is

10238 SHBA Bye ToddE ere DS DEE Lo AN



Options :

13
28393622081, ¢ 10

26
28393622082, % 10

10
28393622083, % 10

28393622084, % 10
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The number of significant figures in the measurement of a length 0.079000 m is

2,8 &89 TBwE), Ferés 0.079000 m S GE Howsen

Options:

28393622085, %

~

I

28393622086. *

28393622087, ¢

28393622088, # 4
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The acceleration of a vertically projected body at its highest reaching position is

2,8 S5806)aD Q&) AENYT IO, @O TO K0 ) FH0 SQ) T €6 550
Options :

0
28393622089, % V")

Equal to acceleration due to gravity at the place

€3 [DTF0 S Ko b £eb T8 Do
28393622090. ¥

Infinity
28393622091, ¥ @00

2!
28393622092, % —1 1S

Question Number : 84 Question Id : 2839365524 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A player can throw a ball to a maximum horizontal distance of 80 m. If he throws the

ball vertically with the same velocity, then the maximum height reached by the ball is

2.8 s .8 208 K00 80 m § 8323 D3rodsd Brdo 8K, e
208 ©F JK0S ) ANHT DVOB, & 208 TO {02 68

Options :

28393622093, * 160 m

28393622094, ¥ 60 m



28393622095, ¥ 20 m

28393622096, v 40 m
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If a man of mass 50 kg is in a lift moving down with an acceleration equal to

acceleration due to gravity, then the apparent weight of the man is

85065 565 s 8T8 TSRS & 182208 1808 Evenddd) 2.8 @%é‘ 50 kg |&eS3077
0> 8528 ered) L0nd, &8 5528 Tank), Sads ardo
Options :

(0
28393622097, ¢ VY

28393622098, % 100 N

28393622099, ¥ 25 N

28393622100, % 2 N

Question Number : 86 Question Id : 2839365526 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



An engine is dragging a mass of 5000 kg with a velocity of 5 ms! along a smooth

inclined plane of inclination 1 in 50. Then the power of the engine is

300 50 S 1 0 2,5 00 Fens03 5000 kg (9550739 5 ms SKod 2.8 2088
erHS08. BN & B0BS Ty w0Pio

Options :

28393622101, ¢ 3 kW

28393622102, ¥ 2.5 kKW

28393622103, # 10 kW

28393622104, ¥ 23 kW
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A ball falls freely from a height h on a rigid horizontal plane. If the coefficient of

restitution is e, then the total distance travelled by the ball before hitting the plane

second time 1s

28 208 W)™ h ) 0B (80H8 2.8 Gt 8z NSrosd 800D HAIE.
DE5ITSDEE0 € owe & SerQ) BoBrO GER 5005 208 [Hosreiods Inedo

¢rdo
Options:

28393622105, % he”

28393622106, ¢ h(1+2e)



28393622107, * h(1-2¢%)

"
28393622108, ® h(1+e’)
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The velocity of a particle having magnitude of 10 ms™' in the direction of 60" with

positive X-axis 1s

S s X- 0508 60° &3S’ 10 ms! S8 985780 EORS Seao Ty, o

Options :

28393622109, ¥ 21=5V3 ]
28393622110. # 5V3i-5j

28393622111, % SV3i+5]

28393622112, v Si+5V3
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The ratio of the radii of two solid spheres of same mass is 2:3. The ratio of the moments

of inertia of the spheres about their diameters i3

D85S (535073 0 otk e Ferer 35T A28 2:3. 36 e HGom e
20565 § [2T0TO RS

Options :

28393622113, ¢ 4:9

28393622114, % 2:3

28393622115, % 8:27

28393622116, % 16:81
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The displacement of a particle executing simple harmonic motion is given by

x =2cos (t) where t is the time in seconds then the time period of the particle is

DY P08 OO0 T E0 BEY V25040 x =2c0s (t) T 99 30R08), Q& t
00 VEHOS o & §80 M) BOTHHINTO0

Options :
28393622117, % T second

28393622118, ¥ 2T second

28393622119, % 37 second



28393622120, * 0.5m second
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A man weighing 75 kg 1s standing in a lift. The weight of the man standing on a
weighing machine kept in the lift when the lift is moving downwards freely under

gravity is

75 kg 2808 o 2.8 HHJ 2.8 OD S Jod &), HEEID SO VST
8068 §cnenthd) 28 O & &0t 2.8 s TS AHoS0 R SR
QO&S, 2% FOT abolsho drdod d&oh

Options :
28393622121, ¢ Z€ro (Q0T°))
28393622122, % 19 kg

28393622123, ® 34.8 kg

28393622124, % 052 kg
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The dimensions of four wires of the same material are given below. The increase in

length 1s maximum in the wire of

2.8 DTG0 TahaGS Treuh affe Fosen 5o B om. FEIS R
KOO &OT &3

Options :

Length 100 cm, Diameter | mm
28393622125, % &°¢ay 100 cm, &°5c0a30 1 mm

Length 200 cm, Diameter 2 mm
28393622126, % &°C9ed 200 cm, &°§cds50 2 mm

Length 300 cm, Diameter 3 mm
28393622127, % &°Cay 300 cm, S50 3 mm

Length 50 cm, Diameter 0.5 mm
28393622128, ¥ &°C8ay 50 cm, &°§dsd0 0.5 mm
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A cylindrical vessel, open at the top, contains 15 litres of water. Water drains out

through a small opening at the bottom. 5 litre of water comes out in time t;, the next 5

litre in further time t,, and the last 5 litre in further time t5, Then

2 2770 BEDHOAS 2.8 rarsd e 15 Od D3R 5008508, B (80d e
G:3) 5000 & 407 G 20HEE F&H08. 5 OLY A t; oo $D8 5 O
B t, H0HOES’ 0805 DB 5 OLY e t; 0 ALK SR

Options :

28393622120. ¥ f1 = L2 < I3



28393622130, # t1 = t2 = 13

28393622131, % t1 = t2 = {3

28393622132, % L2~ 41 = 13
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A cylinder of mass m and material density p hanging from a string is lowered into a

vessel of cross-sectional area A containing a liquid of density o (< p) until it 1s fully

immersed. The increase in pressure at the bottom of the vessel is

086 6 (< p) B0 2.8 | 3508 D0NDAS HAITIS T30 A o> 2.8 FSS 8 2.8
80 DFADOE |Ferhchcd), m (H::073 LHOAN p DI o6 fe 2.8 N0
18506 SO ST 585 (BoBE BoTE. 2F|e e PP DO S0

Options:

28393622133, % Zero (Qar))

mg

28393622134, ¥ A

mgp
28393622135, ¥ GA

mog

28393622136, ¢ PA
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The Fahrenheit and Kelvin scales of temperature will have the same reading at a

temperature of

TFBS 276 B0 TO:S il iEsraren 2.8 HG0R & 4O &od ik

Options :

28393622137, % —40°F

28393622138, # 313 °F

28393622139, ¥ 374.6 °F

28393622140, ¥ 732.7 °F
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[f the ratio of densities of two substances is 5:6 and the ratio of their specific heat
capacities is 3:5, then the ratio of heat energies required per unit volume so that the

two substances can have same temperature rise is

BO DET F0|B3S© D) 5:6 HOK a3 VISR FeDF5e e 3:5
©0Nd , Bot HTTOS 2.8 GaF(ied DENEOK 25°0% SNBSFETVE SRS
G e Ay

Options :



28393622141, % 1:1

28393622142, # 1:4

28393622143, ¢ 1:2

28393622144, % 1:3
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In a process, the work done by the system 1s equal to the decrease in its internal

energy. The process that the system undergoes is

28 1HE0HS 5355 TR A TR @088 385 SHHOH NS0 OV, &8 5558
S (8%
Options :

isothermal process
28393622145, % Vara (DEAD

adiabatic process
28393622146, v PORS DEAD

isobaric process
w 5 o
28393622147, % N0 (D(SCW

1sochoric process

28393622148, % W50 QVANONTED (O(SAD
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N molecules each of mass m of gas A and 2N molecules each of mass 2m of gas B are

contained in a vessel which 1s maintained at a temperature T. The mean square velocity

of the molecules of gas B is denoted by V, and the mean square of the x-component

velocity of the molecules of gas A is denoted by V? . then é is
2558 m |5550°7 e N e0ededen fied 2.8 srained A DB 2,556 2m |H50°7
o) 2N eensden e oy B, T edFfied 50 Gotsdd 2.8 TS o). o
B ee0sy0 Sifew 8 3o V; SH00k araine A evsner diiew 3¢ x- @of SKo V/

0N, L

-
¥

Options :

28393622149, # 2

28393622150, # 1

2
28393622151, % 3

| b9

28393622152. ¢
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Among the following statements, the correct statement for a wave is

1808 7¢3¢5° S80S HoDOAOD HOTDS TEFN

Options :

Transverse waves cannot propagate through all media

28393622153, % @328 SS0omren @) AT HoE |IHOTSE0N Sy

Longitudinal waves can propagate through solids only

28393622154, % @@Eéséf’@ﬂ‘m D IDTTE HO® :lﬁ"l‘_e‘éﬁ) LLASTEI 0N

Transverse waves can propagate through solids

$8393622155, v S055 SEOMED VSJTT 07 (HAEreIOTsNera)

Longitudinal waves can propagate through vacuum

58393622156, % DB SEOMeD Frd30 &7 507 |DATES0TI IO
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A source and an observer move away from each other with same velocity of 10 ms™

with respect to ground. If the observer finds the frequency of sound coming from

the source as 1980 Hz, then actual frequency of the source is

(speed of sound in air = 340 ms”)

202 28 2980 0BG 2.8 D8O 10 ms™ D oS 2,80 Dod
R05EE SrSOIT SEendanT) 8. HOFEE 23E0 HOG ST &R T
rsyarsR), 1980 Hz e tH8R), 38050 Bngy arded Braesydso

(POS B3 58 =340 ms™)



Options :

28393622157, ¥ 1950 Hz

28393622158, ¢ 2100 Hz

28393622159. ¥ 2132 Hz

28393622160. ¥ 2486 Hz
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Two convex lenses of focal lengths 20 cm and 30 cm are placed in contact with

each other co-axially. The focal length of the combination is

20 cm Hocin 30 cm wrgrgoddsnen o Bodh Sogrsd Sesen 2.8 rdf
2,563 SRS DHOT DT O @08 )23, DoTBrio Ty, T°er;0stan
Options :

28393622161, % 60 cm

28393622162, % 10 cm

28393622163, ¢ 12 cm

28393622164, ¥ 40 cm



Question Number : 102 Question Id : 2839365542 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A point source of light is placed at the focus of a concave mirror. Consider only
paraxial rays. The shapes of the wavefronts of incident and reflected lights

respectively are

s 820 0E), (DTS 778 G 503 G30E), 0w 23580 &otG08.
&arS O BEETO S5 HOKB0H0B. Heb DO HTI0S Toser T,
SEOTTTPO @5°0°eN T

Options:

spherical, spherical
28393622165, # NS, Awrsed

spherical, planar
28393622166, ¥ NES8, Dadeded

spherical, cylindrical
28393622167, % N¥"S0, WarsS

planar, spherical
28393622168, % e, A sy
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If the electric potential at a point on the surface of a hollow conducting sphere of

radius R 1s V, then the electric potential at a point which is at distance %from the

centre of the sphere is

R 5080 o 2.8 o738 S'en Féo Thnk), Sn08003 08 PBACEHS V ®ond,
0 30150 &0l % AFB0S K0 Dot S8 DS TS

Options :

28393622169. ¥ V

28393622170. % 3

28393622171, ¥

Lad

28393622172, % 3V
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The effective capacitance between points A and B shown in the circuit is

30000 BrHadS A 805w B Docwder Scds HOS BFBS)

I8 oB

Options :

28393622173, ¢ 2C



28393622174, % €

C
28393622175, # #

28393622176, % 2C
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The Wheatstone bridge shown in the diagram 1s balanced. If Ps is the power

dissipated by R; and P; is the power dissipated by R;, then the ratio ; is

1
B0 AT DEETS (DB He:n82308. P 06 Rs o500 0855090
20D § P50 HOAW Py 036 Ry & 507 h& 55000 90D ared P50 evows,

5 anya

B

Options :
K
28393622177. ¢ L

K.'.'
28393622178. # L



[
28393622179, % K’

L
28393622180. ¥ K
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A wire of resistance 2R is stretched such that its length 1s doubled. Then the

Increase in its resistance 1s

QEE0 2R Ko 2.8 BED 20 S BEI0D) @BHSERFEETE. 900 T
QER0S DSBS

Options:
28393622181, ¢ OR
28393622182, * 4R

28393622183, % 3R

28393622184, % 2R
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It is found that a non-zero current element is unable to produce any magnetic
field at a particular point. Then the angle between the current element and the

position vector of that point with respect to the current element is

2.8 P58 DENS DareT rOF0 2,8 A0 D0M) SO DENS0E] chry 06
31 D8)SNB. @00 €8 DN 0 JEOIT & 1S reso
HOO50 &8 DY TREY T AQF 3§ Fea0
Options :

must be 45°
28393622185, ¥ DB 45° Gsowd

may be 0° or 180°

must be 90°
28393622187, % DLYBor 90° soad

may be 30° or 60°
28393622188, # 30° 81'_'.3“ 60~ ﬁ@(ﬁﬁﬁtﬁ)&
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Three long, straight, parallel wires carrying different currents are arranged as
shown in the diagram. In the given arrangement, let the net force per unit length
on the wire “C” be F . If the wire ‘B’ is removed without disturbing the other two

wires, then the force per unit length on wire “A” 1s
HO0S SrDS Do I DAE (DaTen DA et FESS, B)d,
DEFOSE e @508 1% G on. A IS @B, 'C' &K ) 2508

2200 F &, 26 ok efedh Sofo Seifom & ‘B’ Q Sonodds,
& ‘A’ T} d50¥ P 200

Al B C
3 b
3i 2i
i
L
d d
-— >

Options :

28393622189, ¥

&
28393622190, # 3F

28393622191. # 2F

—_—

5
28393622192, ¢ =i
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If y 1s the susceptibility and p, s the relative permeability of a ferromagnetic
substance, then

2,8 DT ©aHar, 08 Do By SRRDOE 1 DO FE 145 e |L
©ONS

Options :

28393622193, ® X <<l

28393622194, % M, <<I

28393622195, ® M, =0

28393622196, ¢ X >>1
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Metal detector works on the principle of

DS ABES H Tahn S|S0

Options:

Ohm’s law
28393622197, ¥ 2uo) VGO

Coulomb’s law
28393622198, ¥ SI"ENe) OO0

Electromagnetic induction
28393622199, v DEVFOAD} 08 DB



Stefan’s law of radiation
5 = o
28393622200, ¥ Mar® D85 drrlebo
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A copper disc of radius 0.1 m rotates about an axis passing through its centre and
perpendicular to its plane with 10 revolutions per second in a uniform transverse
magnetic field of 0.1 T. The emf induced across the radius of the disc 1s

aﬂéﬂhgo 0.1 mAo &8 ooh &) o) Soltfo hom Hér o SerdE ©ouoT &G0k ©fo
SBore D568 848 wched §¥o 0.1 T &6 2E5% 10 (gbmre Fhps 85HDOHB.

o0 TR TR0 woibe iy PBRAS B0

Options :

i g
28393622201, # 10

2

_FI' V

28393622202. % 10

28393622203, ¢ 10z mV

28393622204, # 201 mV
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At very high frequencies, the current (i) in the given circuit is
©#HE I 5 (8od Sochos® RS (Hararo (i)

an 20mH 6uF in 50mH

Y X an
_;"’.\'-,-‘A\.f{\\..r Y 10100 _| i—.fﬂa,F'V‘~ (BT '\.._z"\v"'l_|
— —— 05uF —— 05pF
1 20
I I N x.f""‘w. A |l FA ',-"\'f"-,' I : fl“.f"\,r"q‘\.
' 0
! 0.8uF 0.8uF 0.8uF

e}
Ly
220V

Options :

28393622205, ¥ 4 A

28393622206, ¥ 0-4 A

28393622207, ¥ 44 A

28393622208, ¥ 4.4 A
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Electromagnetic radiation of intensity 0.6 Wm™ is falling on a black surface. The

radiation pressure on the surface is

&8 i 5% So0p 0.6 W™ 858 o DtiagiciodRod D8depen B0 Bothisig)d. wows

© d00D J88m Hiksin

Options:



i 3
28393622209, ¢ 2%107 Nm

0 3
28393622210, % 3x107 Nm

i) _:
28393622211, % 4x107 Nm

0 e
28393622212, * 0x107 Nm
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Radiations of wavelength 400 nm incidents on a photo sensitive material of work

function 2.2 eV. The stopping potential is nearly

400 nm 3083E:0 B> D8Been 2.2 eV HA) (D300 Koy 2.8 &P ard; (gl
DTG0 HebSDHTNN) D). 0B ATHE FRYANS Srdrr

Options :
28393622213, ¢ 0.9V
28393622214, % 0.5V

28393622215, % 0.4V

28393622216, # 0.1V
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In a hypothetical Bohr hydrogen atom, if the mass of the electron 1s doubled then the

energy of the electron in the first orbit is

a8 S0 556 mEPas HEdrdS?, DS (5850°8R B0 323 of) S0iB
s66 8

Options :

28393622217, ¢ —27.2eV

28393622218, * —13.6eV

28393622219, ® —6.8¢eV

28393622220, % —34eV

Question Number : 116 Question Id : 2839365556 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The half-life period of element X is same as the mean life time of element Y. Assume

initially X and Y have same number of atoms. Then

Hresin X dng of dddsme0, Hrodo Y @o¥) Sitn 498 soerd8 Sirdo. Fend
X Hochn Y en Sdmd ?603.‘5935 S8sreied 8D GamohhE . eonsd
Options :

Initially X and Y have same decay rates
28393622221, % &end X, Y o herd Ben Jddrdo



Always X and Y decay at same rate
-8393622227. % X Y © D3pex Bew dppilr Sdrso

Y decays faster than X
28393622223, v X B0 &Br Y Dineds S0t

X decays faster than Y

28393622224, % Y 508 &Bre X Dihexs Bothid
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Heavy water is used as moderator in nuclear reactor because

B0|55 8057E0 & 238230305080 WSO SrHIBTAOES S50

Options :

[t controls the energy released in the reactor
-8393622225. % B0 BUATEHS® Jevartd 8 aho@owoid

It absorbs neutrons and stops chain reaction

28393622226, % 36 HEPEDH ERoD, Frend SEHb 6

It cools the reactor faster

28303622227, % O BOTEER0 EEre Sgntoiiin

It slows down the fast moving neutrons

28393622228, v B0 SMOT® $00T SrglerS JsiyBohivey Ik
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Photodiodes are mostly operated in reverse biased condition because

§e°* EArEo ST 85° 850" DT JoWHEST
Options :

Fractional change in minority carriers produce higher forward current

28393622220, % ©R) SoFE FirSOE” SEE Hrly ©fE HB° D8 @Y SeariERod

Fractional change in majority carriers produce higher reverse current

28393622230, * £BF VOFTE TS’ FFE X6y ©BE BT S HIHY SeoriBEi%od

Fractional change in minority carriers produce higher reverse current

58393622231, v Q) D0TE TFsroE® FFY Erty) oY 88° DS (B SewrER00

Fractional change in majority carriers produce higher forward current
58393602237, % OO HoFSE Tred® PEE Srty) ©BE HE° DS WY Seor@od
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Which of the following statements 1s true about LEDs?

LED &%) 50200800 & 1808 563 HDOTDS 855500 E?

Options :

High operational voltage
28393622233, % OO (D80 S'Pes



Warm-up time is required
28393622234, % HB5,EV8 JeHAHo eS5d080

Bandwidth of light is 4000 A — 7000 A
£8393622735, % G50 50 HE3 Ichen) 4000 A — 7000 A

Fast on-off switching
28393622236, ¥ 35&@@5@&1 es — 1.‘3—_35 ﬁjja}JDﬁ
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An amplitude modulated wave is represented by c_ (t)=10 [1+D.6 sin (1250t ]] sin [ 10°t )

Then the modulation index 1s

2.8 B0 $0MB SrthgPiS Sbort Sidmim ¢, ((=10[1+0.6 sin (1250t) | sin(10't)

00N, éjﬂd)éé&iﬁ Ko end

Options :

28393622237, % 10

28393622238, % 1250
bl

28393622239, % 10

28393622240, v 0.6
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The energy of second orbit of hydrogen atom is —5.45x107 J. What is the energy of

first orbit of Li*ion (in J)?

iEteS S85rmHS Do & 8 -5.45x10™ Teawd Li'* ecieSS’ ans8

85 &8 (J o) Qos?
Options :

28393622241, % —1.962x107"



17
28393622242, ¢ —1.962x10

17
28393622243, % —3.924x10

-
28393622244, % —3.924x107"
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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The number of electrons with (7 +/) values equal to 3,4 and 5 in an element with

atomic number (z) 24 are respectively

(n = principal quantum number and [ = azimuthal quantum number)

DBSreadony (2) 24 Ko dwroo Jolh [n+.")§}méu‘1 3, 4 H0dhn 5 o Jdrdore
flo Jogey dogyen BT

(n = Pderd sXobo dogy, [ = 25086 s%0€0 dogy )

Options :

28393622245, % 7, 8,5

28393622246, % 0,8, 6

28393622247, ¢ 8, 1,5

28393622248, % 8, 8,3
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Match the following

(Bod TBY eFHEHED

List — I (e - 1) List = Il (e - II)
(Atomic number) (Group number & Period number)
($8Sme0 Hog)g) (% Sogg, DBHE o)
A) 56 ) 9.4
B) 50 ) 3,6
C) 27 [ 14,5
D) 58 IV) 2,6

The correct answer 1s
ROR VArGER0

Options:

28393622249 % A-IILB-1V,C-1,D-1I

28393622250, ¥ A—ILB—II,C -1V, D -1

28393622251, # A—IV,B-L C-1I, D-III

28393622252 v A—IV,B-II,C-I,D -1l

Question Number : 124 Question Id : 2839365564 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



According to MO theory, the molecule which contains only 77- bonds between the

atoms 1s
MO ?mgoéo [@selo DSrme DGy T-20greD m@:b 6N OEND)

Options :

28393622253, v C2

28393622254, % N2

28393622255, ¥ O2

28393622256, ¥ B2
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In which of the following changes there is no change in hybridisation of the central

atom?
8o & ErE6’ BolSs BEsrm $0805En HBE" drty) Bth?
Options:

-t H. /M1 -
28393622257, % C,H,———C,H

28393622258, ¥ PCl; +Cl" —— PCI,

4]

28393622259, % BFs T F > BF,

28393622260, v NH; +H" —— NH,
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The rate of diffusion of a gas A is V/5 times more than that of gas B. If the molar mass
of A 1s xgmol't, the molar mass of B (in g mol™) is

A 00 arding cﬁaﬁé avéﬁzé O araind B %08 V5 Oén ;I)éa&;’n. A cﬂné& Jrerd

B5ee8 xgmol” wond B @) Arerd (o8 (g mol” o&f)

Options :

28393622261, ® 4x

28393622262, ¢ O X

28393622263, ¥ 16x

28393622264, % 23X
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Which one of the following has the same number of atoms as are in 6g of H,0?
808 &3¢ BAGHO b6g © Hi0 &9 H8drmde Boggty Hre éospgé’s
2)OeITED )N GBOETON ?

Options:

28393622265, * V-4 g He



28393622266, % 22 & CO2

28393622267, ¢ | & H2

28393622268, # 12 & CO

Question Number : 128 Question Id : 2839365568 Question Type : MCQ Option Shuffling : Yes
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For the reaction at 25 °C, X,0,(/)— 2XO0,(g), AU and AS are 2.1 K.Cal and

20 Cal/X respectively. What is A G for the reaction at the same temperature?

(R=2 Cal K''mol)

25°E g)ﬁé X504 (Ld)] —>2X0; (o)) iﬁéaé} AU, ASen S%adme 2.1 K.Cal, 20 Cal/K
wond ©F el 3¢ SEH AG el dod ?

(R=2 Cal K'mol?)

Options :

28393622269, ¥ -2.67 k.Cal

28393622270, * 12.67 k.Cal

28393622271, * -1.67 k.Cal

28393622272, % 1T3.67 k.Cal
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Which of the following does not form a buffer solution?
Bod TES° DO 2PE [TeBer) E)BEEH?

Options:

28393622273, % NH, + HCI (2:1 mole ratio )

28393622274, % CH,CO,H + NaOH (2 :1 mole ratiﬂ)

28393622275, ¢ NaOH + CH,COOH (I :1 mole ratio]

28393622276, % NH4CIH+NH; (1:1 mole ratio)

Question Number : 130 Question Id : 2839365570 Question Type : MCQ Option Shuffling : Yes
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The hydrides of which group elements of the periodic table form electron precise
hydrides?

Ehaley :ﬁ%é@*’ @ (e Hirose TFEE, dug) POYS0T Ko FHFES of)Son?
Options :

group 12
28393622277, % @& 12

28393622278. *



group 13
Fo=sp 13

group 14
28393622279, v % 14

group 16
28393622280, % i) 16
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The alkali metal with lowest E° (V) is X and the alkali metal with highest

MM

E° . (V)isY.Then X and Y are respectively

M™ /M

gy E (V) FE&ro X Kbk seg E°, .. (V) Ko 880 Y wonds

MM i

X n0cin Y en Sdre
Options :

28393622281, ¥ L1, Na
28393622282, * L1, Cs

28393622283, ¥ Na, Li

28393622284, # Cs, Li

Question Number : 132 Question Id : 2839365572 Question Type : MCQ Option Shuffling : Yes
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Assertion (A): Be and Mg do not impart any colour to the flame

Reason (R): The electrons in them are strongly bound to get excited by flame

0880 (A): Be, Mg en e dorbi Senld 2099
se8e0 (R): HBS° DOlFHY wwom aohodad dotiio S ol axe dy &a280 5%

The correct option among the following is
5208 DAITOS HOTSA

Options :

(A) and (R) are true. (R) is the correct explanation of (A)
28393622285, v (A) 0Bdi® (R) Jezo, (A) B (R) SBD D58¢es

(A) and (R) are true, but (R) is not the correct explanation of (A)

28393622286, # (A) 0B (R) Jeso, 5020 (A) B (R) B8 Daddes seeh

(A) is correct but (R) is incorrect
28393622287, * (A) ¥8%8 =2 (R) 9856 =2t

(A) 1s incorrect but (R) 1s correct
28393622288, % (A) BB 5°th, 520 (R) ITHH
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Aluminium reacts with dilute HCI and liberates a gas ‘A’ and with aqueous alkali

liberates a gas ‘B’. A and B respectively are
ergRoho dee HCl & St Fob) araina) ‘A’ &, 8 we (ordeos’ ST ol

aedh) ‘B’ & avod. A, B en 3tdm

Options :

28393622289, % Cl2, O2
28393622290. ¥ O2, O2
28393622291, ¥ Cl2, Ha

28393622292, v Ha, Hz
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Identify the incorrect statement about the oxidation states of group 14 elements
o=y 14 Sorosre @%édw?&}ml’é} K00060D8 PES® KB T BB
Options:

Carbon and Silicon mostly exhibit +4 oxidation state

28303622003, % S ROSEes @orsore +4 efyEERlBd (B6gxRon

Tin in +2 oxidation state is a reducing agent

B8 +2 odE50d8E® ¥ Eoh¥sds
28393622294, ¥ @ =

28393622295. ¥



Lead in +2 oxidation state is a reducing agent
BE +2 ©8)580R8E° a8 FobELe

The order of stability of +2 oxidation state follow the sequence Ge<Sn<Pb

28393622206, % 12 SRR RSSO KOG €0 Ge<Sn<Pb
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The IUPAC name of the given compound is

Etalaty ﬁﬂa&éﬁo &) IUPAC o

O

~~C

OH

Options :

6-formyl-3-hydroxy-5-methyloct-4-ene

28303622207, % 6~¥QS ~3-FEY) - 5= WPFe§ -4- &S

5-hydroxy-2-ethyl-3-methylhept-3-enal

58393622208, % D~ eES) ~2- 88S -3- PSR -3- &S

3-methyl-2-ethyl-5-hydroxy hept-3-enal

28393622290, ® 5~ WP ~2- 3PS -5- TEdr] -3- ses

2-ethyl-5-hydroxy-3-methylhept-3-enal

28303622300, v 2~ 588 -5~ T8 -8~ ZEIY -3- &S
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The aromatic compound / species with maximum number of x - electrons is

KO% T- olgPy Ko 66 EraE Sdygiso / =8
Options :

Phenanthrene
=
28393622301, ¥ PRSI

Naphthalene

v
28393622302, # THOS

Cyclopentadienyl anion
58393622303, ¥ N5, NOLPEIS DSAFS

Cycloheptatrienyl cation

28393622304, % B EERS s0ainS
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In the conversion of A to B, the electrophile involved is

0

Il
Redhot CH,-C-Cl
C1H3 lrontube > A Anhy. AIC], »B
BT73K

A% B e Srgod® QIIFNDE Qo€ pd

O
]
. e 5 CH:—C-—C1
C,H,——A > B
- ™y "'_-"-1_-\_: @FUWLQ AlCt:



Options :

28393622305, # CH;

O
Il
Cl—cCe
28393622306. ¥

Cl{ﬁ

28393622307. #

0
[
HJ_(‘ = C@
28393622308. ¢
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An alkene X on ozonolysis gives a mixture of Propan-2-one and methanal. What is X?

X, 06 68 $ L8600 BOBSIHE BFS-2-65 5005 BETS R
D). X e0iises D67

Options :

Propene

F
28393622309, ¥ @'E%“J

2-Methylpropene
28393622310, v 2~ 0PSEPLE

2-Methylbut-1-ene

58393622311, % 2-0PO2E-1-8S



2-Methylbut-2-ene

28303622312, % 2-hPSARE-2-Kd
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The formula of a metal oxide is Mp.oO1. The fractions of metal that exists as M** and
M= ions in that oxide are respectively

28 & 6B F8yr MogsO1. BAHO &'aro MY, M edimgmr 0o
grrren SBNme

Options:

28393622313, « 0.083,0.916

28393622314, % 0.916, 0.083

28393622315, # 0.88,0.12

28393622316, % 0.12,0.88
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At 50 °C, the vapour pressure of pure benzene is 268 torr. The number of moles of
non-volatile solute per mole of benzene required to prepare a solution having a vapour
pressure of 167 torr at the same temperature is

(molar mass of benzene=78 g mol!)

w0 B éié HQ Bods e §¢50 268 torr. e &%@’é Efjig 167 torr 2735 L¢50 K
R do5r Tohmis a8 3rS Boddh Smidohd @ rrid Eado Frde

Rogy
(BoS Frerb (5:550°8=78 g mol )

Options :

28393622317, # 0.305

28393622318, % 0.705

28393622319, v 0.605

28393622320, ¥ 0.405
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The rate law for the decomposition of hydrogen iodide is — % =Kk[HIT. The

units of rate constant k are

d[HI
TGRS oT0EE ESEE Déndaho — % =k[HIT}, eows Béxo yoro¥o
Kk % cSorQeden
Options:

-1 _-1
28393622321, v L mol™ s



-'| _'I
28393622322, * L mols

2 =
28393622323, % L mol™ s

1/ -1/
i ] 1.[
28393622324, % L' mol“? s
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A current of 15.0 amperes is passed through a solution of CrCl, for 45 minutes. The

volume of Cl, (in L) obtained at the anode at 1 atm and 273 K is around

(IF=96500 Cmol™, At. wt.of C1=35.5,R=0.082 L-atmK ™" mol™)
CrCl (o weoe 15.0 wodahy HEgdh 45 ddoare artw (Hrosdeth. a6

&6 ofod Cl, Hddedreso 1 @@éﬁjﬂjcﬁjﬁ &S0 Hbasn 273 K 3¢ (@&JQ@E)
TR

(IF=96500 C mol™, At. wt.of C1=35.5,R=0.082 L-atmK ™" mol™ )
Options :

28393622325, ¢ 4.7

28393622326, % 3.7

28393622327, % 2.7

28393622328, % -7
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Which of the following can form ionic micelles in water?
Bod 8S° D VBS° wairdE Mo 8 BFon ?
Options :

Starch molecules
28393622329, % ® O)IENYEN

sodium lauryl sulphate

28393622330, v O 0000 er0S S

lodine molecules
28393622331, % OTPES weaiHer

Sg molecules
28303622332, % S8 GENIED
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The ore which 1s purified by Leaching process is
DEr¥ido HLBS® HB Fohald Tr&HDH

Options:

Zinc blende
28393622333, # 205 Jok



Bauxite
28393622334, ¢ ¥

Calamine
28393622335, ¥ SO

Haematite
28393622336, % sTOBED
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P,+ 3NaOH + 3H,0—=2 53X +PH, T
HC1 (aq) -
X W 11 + NHC]

The incorrect statement about Y 1s
Y 5 Qo080 3857 am5ay
Options:
[t is also called phosphonic acid

28393622337. ¥ & & @535 @0 O ErGe wolrd.

It is a monobasic acid
28393622338, ¥ 8O LTFEE wio

It is a reducing agent
28393622339, * S0 FA0ESA

(Oxidation state of the central atom 1n it 1s +1

J6303629340. % ONS Bols BBEreD wd)Ese 8 +1
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The ratio of lone pair of electrons to bond pair of electrons in ozone molecule is
= bt a2 J\

L85 omPS® eobd ad JOFPID, 20§ w8 D DY Ko Y

Options :

28393622341, ¢ 2:1

28393622342, % 32

28393622343, ¥ 2:3

28393622344, % 1:2
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Consider the following statements about the oxides of halogens
A. At room temperature, OF; i1s thermally stable
B. Order of stability of oxides of halogens is [ > Br > Cl
C. 120s is used in the estimation of CO
D. ClO; is used as a bleaching agent

The correct statements are

SBSeS g8)8ed Sowofod (Eod TSRO HBKBosod
A. 58 agfiE 58, OF: 8 RE&0 Hod
B. 368 &3y QB (Bbo 1> Br>(l
C.CO % R]gcmoiﬁﬁoﬁa [005%0 artiarth
D. ClO2 & QBoudisedrr ieed
DO DStesen [ argegen

Options :

28393622345, » A & B only

28393622346, # A, B & Conly

28393622347, * B & C only

28393622348, v A, C & D only
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XeF, +O.F, > X +0,

X+H,0—Y +2HF

(Lmrele )
The shapes of molecules of X and Y respectively are

@Y X, Y o efden SHSme



Options :

Square planar, square pyramidal
28393622349, % Nan¥e SHIE, SHLE LEWES

Distorted octahedral, square pyramidal

58393622350, v EPDE0 TOBS egEndob, BSOS HBNES

Distorted tetrahedral, Distorted octahedral

8303600351 % JETFSE0 ToBS BEFIRES, Derno Bos OHED oD

Square pyramidal, Tetrahedral

28303622352, % VRO 1BES, BErEES (S&dydan)
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Among the following the incorrect statement about transition metals is

HBRGS EEFFeE Hon0dod Bod TBE K658 aT58S

Options :

Cr, Mo and W have high melting points

28393622353, # Cr, Mo 58csn W en @088 (82458 55:?“&:350 58 &otron

With increase in number of unpaired electrons melting point increases

58393622354, % SONTAR JOIFR Soag 2OA TQ (BLFSS Faren IO D

Mn®" is more stable than Mn”’

Mn? 8= Mn’" 558
28393622355, ¥ Va OEOS POD



They show variable oxidation states

18393622356, % S0 5O ef)5tem JEHoDH [HEgAox

Question Number : 150 Question Id : 2839365590 Question Type : MCQ Option Shuffling : Yes
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Match the following
Bob a8 s
List — I (Complex) List — II (Spin only Magnetic moment)
e -1 (Soggo) erder —II (@ errdd echamod (grno)
A) [CoF,J” ) 0
B) [CU(CJOJ,)s]B_ 1) \/3_4
C) [FeF]” M) <8
D) [Ma (CN),J" IV) 435
YJRUE
The correct answer is

WO Sadrgrdo

Options :

28393622357. * A—V,B-ILC-1V,D -1
28393622358, v A—ILB-1,C -1V, D -1l

28393622359 * A—ILB-L,C-V,D-1II

28393622360, # A-IILB-1,C-1,D-V
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Ziegler-Natta Catalyst is used in the manufacture of

£58 - i 635505 O 688 =l
Options :

Polyacrylonitrile
28393622361, * SOIEE" BBS

Terylene
28393622362, % BOOS

High density polythene
28393622363, v ©&E oS FOHS

Low density polythene

58393622364, % &) FolES FOHS
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The deficiency of which vitamin causes pernicious anaemia?
58 &rid oRb D QLS 1) SenrhEod?

Options:

28393622365, * Vitamin B>



28393622366, # Yitamin Be

28393622367, % Vitamin E

28393622368, ¢ Vitamin B>
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The following molecule with the structure acts as
Bod AT 00 & K0 ey DO $SVFAD

NHCO CHCl:=

D:NQ {.-lu e [fll{— CH:0H
OH
Options:
Antibiotic

28393622369, ¥ diroBn@re@E

Antiseptic
— 5,
28393622370, % CSroe RS

Analgesic
28393622371, # aarSR0E

Tranquilizer
28393622372, % &roS58=0
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Which of the following is least reactive towards Sx1 reactions?

Bod BS® DB Sxl SE5e By SKS SoxBessH 5O dotwod?

Options :

28393622373, % CeHsCH,Cl

28393622374, v CeHsCl

28393622375, * H,C=CH — CH,Cl

28393622376. # (CeHs),CHCI
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Consider the following sequence of reactions

Bod ESrHEdios HBHdotidw

: (i) O3 (i) CH3Mg Br/Ether PCC
G, P 4 oo R

4 (i) Zn/HH0 (ii) HHO/H '
The incorrect statement about R 1s
R % Hoaobod 085 TS

Options :

It gives test with Tollens’ reagent

28303622377, % S0 T OK) SU¥OS HOERKR00



[t undergoes Cannizaro reaction
58393622378, v B0 SE’ S &*5Hod

It gives iodoform test
28393622379, % BB O@E"FD BOEIK00

It undergoes aldol condensation
58393622380, % 9O serd BoSH S FPE5é08.
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The common name of benzene -1, 3- diol is
BodS-1.3- &3rS cﬁné& Eﬁ*’a’wé&q 0

Options :

Resorcinol

28393622381, v 0TS

Hydroquinol
28303622382, # 6 &S

Catechol
28393622383, ¥ BLS%S

Cresol
28393622384, % BS

Question Number : 157 Question Id : 2839365597 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the major product C in the given sequence of reactions

Bod adw@is (B 1‘555&1455 @ers a8 e C o HBohim

(i) CH:MgBr | Ether SOCI CH:ONa
>:U (ii) H* | H:O -~ A >B A >

Options :

>= CH;
>—ﬂ— CHs

28393622385. ¥

28393622386. *

O—CH:
28393622387. *

O

<

28393622388. # =
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Arrange the following in the correct order of their reactivity towards nucleophilic
addition reactions

SrBEFHOS Hoded B Bty Bod B ard Soegded SBore KO@N Ehiod®

©:000)e
CH3(IT=0 CH:C=0 CH,=0 CH;=C=0
I I
H NH; CHs
I I [ v
Options:

28393622389, * [ = I =1V =1l

28393622390, # IV=>II>1>1II

28393622391, & U=1I=>1>1V

28393622392, v U1 =1=1V =11
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CH;
(i)KMnO,/OH" | (1)Zn|HCI . (1))CuCN
(i)H" fP (11) NaNO, |HCI fQ (i)H" |H,0 fR
0°C
NO;

R 1s one of the monomers for the formation of a polymer called

808 & FOHE A0S’ R 036 o e D6

Options:



Dacron

28393622393, ¥ GE°®

Nylon 6,6
28393622394, % IS 6,6

Nylon 6
28393622395, % DTS 6

Bakelite
28393622396, % BSSE
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What is B in the given reaction?

S CESS 151
CHBr———>A«——=—B

NH, KOH

Bobd $86° B @038 26?7

. e df Br |
CHBr—g—A«—B
Options :

s NH:
28393622397. ¢  ©

0

-~ h.:\—f—I:

28393622398. #

28393622399.



28393622400. #



